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PW12 7,000 PL12 | PLN12 |PL12-SUS|PLN12-SUS| ZP12 ZN12 | LPL12 | LPLN12 |LPL12-SUS
PW16 7,600 PL16 | PLN16 PLN16-SUS| ZP16 ZN16 | LPL16 | LPLN16 -
PW20 11,300 PL20 - - -
PW24 12,700 PL24 - - -
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WP1- 8 [15,000 [WP1N- 8{15000 | 8 |3 | 25 |36 | 6 |32 |09 | 2565 9
WP1-10 15,000 [WP1N-10|15,000 | 10 | 4 30 | 42 7|4 1 4.5~9 17
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BJ765-03001 | 20 2 BJ766-03001 10 1 6 3 4 7 0.5 10,000
BJ765-05001 | 51 3 BJ766-05001 | 20 2 10 5 6.7 11 0.8 11,000
BJ765-06001 | 76 4 BJ766-06001 | 41 2 10 6 |107 | 1 1 12,700
BJ765-08001 | 102 8 BJ766-08001 | 51 3 12 8 139 | 13 1.3 13,800
BJ765-10001 | 204 16 BJ766-10001 | 102 7 16 10 | 16.7 | 17 1.6 16,100
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BJ765-03002 | 20 2 BJ766-03002 | 10 1 6 3 7 05 16,100
BJ765-05002 | 51 3 BJ766-05002 | 20 2 10 5 115 0.8 16,100
BJ765-06002 | 76 4 BJ766-06002 | 41 2 10 6 10 | 115 1 17,300
BJ765-08002 | 102 8 BJ766-08002 | 51 3 12 8 13 | 14 1.3 19,600
BJ765-10002 | 204 16 BJ766-10002 | 102 7 16 10 16 | 18 16 20,700
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BJ795-04011) 11,000 |BJ795-04012] 13,800 20
BJ795-04021| 11,000 [BJ795-04022)13,800 | 10 | M4x0.7 | 4 12 1.6 50 | 4
BJ795-04031 11,000 (BJ795-04032] 13,800
BJ795-0601113,800 [BJ795-06012] 16,100
BJ795-06021) 13,800 |BJ795-06022| 16,100 | 16 | M6x1 15 | 18 32 | 200 | 10
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ALZ0l| 3 ALSYH 53
A3 A nFof| =EEct

J/ F2lArE

P(N)2 Zol §H0|= 2o 228 2/X LHYL

>
@
(@]
I w)

-




R
@A 2] zm Ay

= Eig 2
E H (h9) B C D E F G (9 g
BJ767-12001| 12 9.9 6 1 1 M4x0.7 5 88,500
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BJ767-16001| 16 | 119 | 10 | 2 | 15 | 15 | Méx07 | 10 | 102400
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BJ768-10001 18 10.2 19 106 40,300
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1) HX[ =0l A 2bM 2| FIH 7t Qf
X=B/2-F-[(C-B/2-t)x0.123]

2) HRI =0l A 2k o = 74 F7H
X=B/2-F

HA 20l M A2EH L SAE Z2e 930
SOl BARL0l XA+ B4 22 ol Buict
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o cin #3 FMH(mm)
A 2 XM WA+ 512 [25]3 [35]4 455 |6
BJ765-03001 | BJ766-03001 | 25 | 08 | 0.9 | 0.9 | 1
El |BJ765-05001 |BJ766-05001 | 42 |13 |14 |14 15|16 | 1617
= [BJ765-06001 |BJ766-06001 | 7.7 |12 |12 |13 |14 |14 |15 |15 |16 |17 |18
1 |BJ765-08001 |BJ766-08001 | 99 |16 |17 |17 18|19 |19 |2 |2 |21 |22
BJ765-10001 | BJ766-10001 | 117 |24 |21 | 22 | 23 |23 | 24 | 25 | 25 | 26 | 27
BJ765-03002 | BJ766-03002 | 25 |08 |09 |09 |1
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= [BJ765-06002 |BJ766-06002 | 7 |13 |13 |14 |14 |15 |16 |16 |17 |18 |19
2 [BJ765-08002 |BJ766-08002 | 9 |17 |18 |18 |19 |2 |2 |21 |21 2223
BJ765-10002 | BJ766-10002 | 11 | 22 |22 | 23 | 24 | 24 | 25 | 25 | 26 | 27 | 28
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Et [BJ765-05001 |BJ766-05001 | 42 | 17
= [BJ765-06001 |BJ766-06001 | 7.7 | 19 | 2
1 |BJ765-08001 |BJ766-08001 | 99 | 23 | 24 | 25 | 26 | 27
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2 |BJ765-08002 |BJ766-08002 | 9 | 25 | 25 | 26 | 27
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